RD-014BC / SRRNIVO ST HIIEHAE

Assembly instructions Bell Clank

[ RD-014BC / RD-014SR & )

M3X15BH XoUa1—
M3 X 15 BH Screw

ﬂl’\”—*j— 0.5mm
Alu. Spacer 0.5mm

RBB-85-2
08X 5 NFUVY
»8X ¢5 Bearing

RD-014BP
RD-014BR NIVOSVIRRA S =

NILEST5 () Bell Clank Post
Bell Clank (Right)

Not included
=
RD-014BL

NWo5vo ()
Bell Clank (Left)

RD-014KP
2 FuoEY
King Pin
RBB-74-2
Q7XPANFUVY S
®7 X ¢4 Bearing 1
RBB-74-2
3 P7XPANTUVY
¢7X ¢4 Bearing
RD-014CL
R il ) o)
Center link X

NWVoSUT R—=R 3.0°
Bell Clank Base 3.0°

M3X6 FH 27U a1—
M3 X6 FH Screw

%"3.0" OZIENE
"3.0" engraved

X @EEISER

"3.0" engraved

B Al ‘
Front l;:\ 30" OUENE

2021. 10 Réve D




RD-014BC / SRRNIVO ST HIIEHAE

Assembly instructions Bell Clank

[ RD-014SREH )

== RD-014BB

037 | CmeV
- SOEE] [ RD-014BC / SR AX7Z)I\—YUZX ]
Bridge

0 =

RD-014BB AmES

" " Product

TUwI R=Z
Bridge Base = o= <tw b / Set Product>
- ﬁﬁ RD-014BC NILOS Vo1 YD-2 SC NILIS2 Ity i/ MC-1 Rear A-arm Conversion Set ¥7.000 —
¢ RD-014SR R4 RS w otk YD-2f SG NI STty b/ MC-1 Rear A-arm Conversion Set ¥10.800 —
3 3
“ <ANF)\—=Y / Spare Parts>
- %“/ RD-014BL SCANIISV oY hE PZIVZR NILISVT (KR ¥ 1,400 [ ]
= RD-O14BR SCANIISV oY hE PIVZR NILISVT (BR) ¥ 1,000 [ ]
RD-014CL SGANIISVIEY A PIVER BYS—-UY Y ¥2,200 [ )
M3X15 FH &1 1— RD-014BB SGANIWISYIEY MR PIVERANIVISYY TUvY (R—XEBm @) ¥2,800 [ ]
M3 X185 FH Screw RD-014BP  |SGAILISY Iy ME PILIE AILISVY RS (2AN) ¥400 [
RD-014KP SGNILISVIEY MR FUIEY (2KN) ¥400 [ ]
RD.014SM RD-014B30 [SGNWLISvoty A PILZR NIVISVo R—=2 (3.0 &) ¥800 [ ]
' — RD-014SM  [SGNILoSv oty MNE PILSE H—RYDY b (2FA) ¥1,300 ®
Y—RIoU~
A Servo Mount
<#t$%)(—Y / Recommended parts>
RD-001SG RWDRUZT hA—A ZIL=8 SGC 70OV hFw o)L ¥ 3,500 *
% <SRA/\—Y / General - purF)ose Parts> :

e RBB-742 | 07X 04 R—ILAF U (2N ) ¥400 | *
os RBB-85-2 G8X p5 R—)LXPUVT (2N ) ¥450 *
RC-S30S ¢3mm AT VU YAty b (0. 1TmmE / 0.2mmE ) ¥500 *
RC-840S ¢4mm A7V UR YAty b (0.1TmmE /7 0.2mmE) ¥500 *
RC-S50S ¢bmMm A7V URA YAty b (0.1TmmE / 0.2mmE) ¥500 *

MEIFBHRERTRC I, *ENFA TV 3 V) (—VICEDET,

M3X6 FH U a1—
\ M3 X6 FH Sorew 2021. 10 Réve D




